18

(0852)22-5277
FAX (0852)25-3830

7(4 ) | pg-TEQ/m® 0 0.011 0.14] 0.032] 0.6
5 pg-TEQ/L 0 0.048 0.39] 0.132 1
1 pg-TEQ/L 0 0.12 0.12 0.12
5 pg-TEQ/g 0 0.26 7.70 2.73] g
1 pg-TEQ/g 0 26 26 26
7 pg-TEQ/L 0 0.046 0.077] 0.053 1
14 pg-TEQ/g 0 0.001 1.3 0.17] 1,000
1(4 ) | pg-TEQ/m® 0 0.021 0.17 0.062] 0.6
7 pg-TEQ/L 2 0.07 5.6 1.24 1
3 pg-TEQ/g 0 1.7 110 49] 150
1 pg-TEQ/L 0 0.046 0.046]  0.046 1
4 pg-TEQ/g 0 0.11 4.9 1.82] 1,000

(@)




ng-TEQ/m3N

0.0000038 0.000011 5
/ 0.00011 0.06 1
2t 4t/ 0.000037 3.8 5
50kg/ 2t/
50kg 0.0000094 9.8 10
0.5
2
pg-TEQ/L
1 0.071 10
0.00085 10
0.00085 0.071
(3
ng-TEQ/g
ng-TEQ/g
ng-TEQ/
57 0 15
59 0 22
( )




No. pg-TEQ/m* (py-TEQ/)
1] 582-1 0.120 0.011 0.029 0.018 0.045
2| 223-1 0.017 0.044 0.040 0.020 0.030
[ 3] 1525 0.016 0.013 0.014 0.015 0.015
[ 4] 254 0.014 0.017 0.018 0.021 0.018 0.6
15| 13-1 0.028 0.013 0.130 0.016 0.047
| 6 | 333-50 0.015 0.030 0.013 0.017 0.019

7 420 0.140 0.013 0.032 0.021 0.052

8 698-1 0.170 0.021 0.034 0.023 0.062

No. (pg-TEQ/L) | (pg-TEQ/L) | (pg-TEQ/g) | (pg-TEQ/Q)
1 H17.10.17 0.39 7.7

2 J-3 H17.10.17 0.12 26

3 H17.10.7 0.05 0.26

4 H17.10.7 0.052 4.3

5 H17.10.18 0.048 0.29

6 H17.10.21 0.12 1.1

7 N-1 H17.10.12 0.07 19

8 H17.10.12 0.395 1 - 150
—_— H17.10.12 | (0.38 0.41) -
| 9 | H17.10.12 0.995] 110

H17.10.12 | (0.99 1.00) 110

10 H17.10.12 0.63 -

11 H17.10.12 5.6 -

12 H17.10.12 1.8 -

13 H17.10.12 0.29 -

14 H18.3.15 - 1.8

H18.3.15 - (1.7 1.9))
D
No. (pg-TEQ/
pg-TEQ/L) | (pg-TEQ/L)

1 H17.10.11 0.046

2 H17.10.11 0.046

3 H17.10.11 0.046

4 H17.10.11 0.077 1

5 H17.10.11 0.047

6 H17.10.18 0.051

7 H17.10.18 0.056

8 H17.10.20 0.046




No (Pg-TEQ/Q) | (pg-TEQ/Q)
1 H17.10.20 0.15
2 H17.10.20 0.27
3 H17.10.17 0.026
4 H17.10.17 0.15
5 H17.10.17 0.0021
6 H17.10.19 0.0019
7 H17.10.19 0.11
8 H17.10.19 0.021
9 H17.10.19 0.028
10 H17.10.19 0.14] 1,000
11 H17.10.19 0.18
12 H17.10.14 1.3
13 H17.10.14 0.001
14 H17.10.14 0.0016
24 H17.10.13 4.7
H17.10.13 2.9
25 H17.10.13 2.1
H17.10.13 2
26 H17.10.13 0.32
H17.10.13 0.3
27 H17.10.13 0.11
H17.10.13 0.11
1)
@)




(ko/h ng-TEQ/m*N) | (ng-TEQ/m*N)
190 H17.8.19 11 5
190 H17.12.9 3.3 5
440 H18.1.12 0.35 10
2,500 H18.3.14 0.16 1
4,542 H18.3.29 | 0.000085 0.1
180 H18.2.28 2.2 10
195 H18.2.23 0.18 5
(pg-TEQ/T) (pg-TEQ/1)
H18.2.24 0.17 10
ng-TEQ/m3N
(H14.12.1 )
0.5 5
4t 0.1 1
2t 4t 5
50kg 2t 5 10
po-TEQ/
(H15.1.15 )
10 10




